_ +, add, addition, more, plus, make, sum, total, altogether, score, near, one more, two more... ten more... one hundred more, tens boundary, hundreds boundary, inverse, = equals, is the same as
oO+0=10 o —p 5 6 ‘ &
1+2-6
S 9 SN | - e— X : -
“Put 4 in . N e Aput)
- - ' TaiP heﬂd, & ; 12345678 —] lw.“}‘j\]i;l Cotoe)
e number bonds 2, | you 2, 00000 | C0000N® 1) o o E L_.,.
5=5+0 3+2=5 6. 5 878 (gaet ) (purt ] =" part }
3,4 and 5 1.2.3.4 5.6 o gl b
? 9 Ly Dy Ty eer Iy 0. 1,2,3,4,5,...6,7. 5+3=28 —
g ‘ - E

e count on and .III alalal - M X0 3 50 whole
count all - - y e s 1 3 . 1- - Z 3 o .:~."1 A

e 1 more .I Ig‘l‘ . : 01 2 3 45 67 oY - part part

e number bondsto | _ 1,2,3,4,5,6,7, ... 8,9. 1,2,3,4,...5,6,7 ' Zra=6 T I T3
2,3,4,5and 10 4=1+3 5+0=5 e ’ 4,...5,6,7. (start with bigger number) 01 2 6 T

0+0 LLLITTI1]

TO + O < 20 LLITTTT] . PR

([ 1 [ X € whole )

e number bonds [T T T : B - o I
t06,7,8,9,10 O+7=7 7=7+0 N A AA Ll 7 7 (part ) (part )
and 11 14627 T=6+1 |+ MMM 2 ls il o Lk g

.1 2+5=7 T7=5+2 14 15 16 17 18 7

fmore 3+4=7 7=4+3 14+4=38

* 2 more 00000 1 000 At4=8 - 3+4=0 whole

e 10 more o @ AR AL 71\8 5T o | |"J-;‘{.A~"EL; 0=4+3 part part

e 0 more ) ® r‘(‘f\ MBI AL 313 P - e _e"-l.;"cu‘“. 3+=7

) 10 add any b I’\;-:" Al |s|s|evjie |27 20| 29| | = ,__‘:J-_’_- 7 =+ 4
numberofones | 0410=10 10=10+0 | loje | HTELRTFIEIRE 4+0=7 . _Apart)

e doubles to 10 149=10 10=9+1 _ 6+3=9 _ 7 o, SHRGLZ

7+10=17 7=3+10 [ whole )

e near doubles 2+8=10 10=8+2 3+3=¢g 2+3=5 3+6=9 Gty =7 ‘/._
(within 10) 3+7=10 10=7+3 9=6+3 - T part )

¢ 345,346,543 | 4+6=10 10=6+4 9=3+6 7T=0+V —
and 6+3 10=5+5 10=5+5

TO+ O 36+8=36+4+4 Commutativity
TO 4+ T 27+4=20+7+4 40+ 4 , 5+3=38
=20+ 11 =44 + 10 Recognise number bonds (no exchange until secure) ; w
TO + TO =20+ 10+ 1 g whole
0+0+0 - /"_\ - T O S
= g(l) +1 YY) 4;3 . ;’Sﬁ ' @ B part part .
e addition facts to - all 33 ﬁ 43 q P o .
20 fluently, and S \ J AL = g \ : 7 wart
derive m m] ‘ FREHE " 80 LI LK W) (o o
the related fact n o Sl
.u;troelao% o s F o 33+9=33+10-1 3+5+7=0B+7+5 PR/ Nt part
o 5 a] =43 -1 =10+5
e number bonds 23 + 12 — 42 - 15 o ”
= = 0l 3
.Zoolri;itozo =20+3+10+2 g - .
=30+5 = R0l+[71 = v :

e partition second | = 35 =8+2+5 | 43) 44| 45 <l hQ HZ oy o
number , add =10+5 | 53| 54 i 10 s 204+ 3
tens then ones = L M VLR =15 : B = 17 +3 0+ 4 1445 =10+ [ Inverse

e add multiples of BNE| 16) L | 63| 64 A+T+6=(4+6) +7 S0+ 7 S3+4=0  [=4+3
ten 23| 24| zsg‘ " L7 +i5)= 22 | 73| 74 ?5'!"_{6 — 1047 «|S17 14+V=17+5 3+1=7 7=0+4

e double numbers 33| 34| 35436 HEHRC : =17 4+0=7 7=3+0
up to 20 (and - A b | 83 24 85485 100 0+V=7 7=0+V
multiples of 5) ) /—\ | 20 \— 22 ' HE 26 Largest numbers first 0+ 8 28 2|2

/ - & 20 + 22 7|7 _ _
e near doubles 73 75 35 . il L B 15+4=19 19-4=15
g +10+3 + 13 —
within 20 23+ 12 +2 +4 45+ 38 =45 + 40— 2 8+1+6=@+6)+1 | B 32+ +V =100 m

e partition and =23+10+2 Qm/—\ =85_2 =14+ 1 40 1 1 = 41 41
recombine =25+10 =83 =15 10 1 V=46+ 13+ [ 15 16 17 18 19

e add near =35
multiples of 10 48 + 36 B 84




a addition, more us, make, sum, total, altogetner, score, near, one more, two more... ten more... one nundread more, tIens bounda undreds boundary, inverse, = equals, is the same as
+, add, addition, more, plus, make, sum, total, altogether, score, near, t I hundred more, tens boundary, hundreds boundary, , = equals, is th
Y 10 »
HTO + O e, S NS e pust)
o --III -I e te e Gy ol
3 347 113 = ot C \U\‘Jl. _.‘ =
HTO + TO oA ' 1 ® @ [ 1] ‘ stnaller quantty | difference + 6 1
ll gores |wyporesen | 30 [HO | = 61
HTO + HTO ', = - e 4 e | 2 2 9
e addition facts to 20 fluently 465 + 231 360 + 80 = ig% + ‘ig + 40 _ &F A 1
: =465 + 200 + 30 +1 =400 + ™ v
e number bonds of multiples of 10 to 200 — 166 + 200 + 30 140 L% g @ . -2 part part i
e add O, T and H to TO and HTO (includin =496 + 200 p whole 229
bridging through boundaries) ® =696 60 163 £2.50 v |
ridging through boundaries = : == = 168
e partition second numbers to add (to + to) 136 + 193 mmm » 6L +£1.75 part | part 333 061
; 235 240 243 303 32 229 — ¢
* pairsfo 1(;)0 bles to add =193 + 100 + 30 + 6 235 + 88 163 + 129 T EL.20 N SZV 1o b ' /
e usec near doubles to a =199 + 100 + 30 =235+4+5+ 3+ 80 =163+ 130-1 1 245 + =370 + 40
e rounding and adjusting near multiples of 10 =229 + 100 =243 + 60 + 20 =293 _ 1 55+ [+ V =250
and 100 =329 =323 =292 V=123+80+[!
Up to ThHTO + ThHTO including numbers to 2 5127 + 720 - 00| > @ : D 08en : :-,vl'nx.- E pt. | pet Z473430-5 301 0
dp =5127+ 700 + 20 ~ @| | |&m & + 100 ... ) .zz. : 2358 E 7 pa | pert ~ 7500
e number bonds of multiples of 100 to 2000 f 5127 +700 00| |las /""— \ \ : : : } + 878
= 5847 CRIICE 7433 7575 1555 o 2731 e P | 7433 4 90
& 2 whole — pant — _
e add multiples of 10s, 100s, 1000s ‘S ' 70 8 9| & & \~.__,/‘ :s ::. H part | part part - ;ggg j 11(?0 10
e fluency of 2 digit + 2 digit m o 433 + 90 " s :: " = 7523
s 2660 + 550 + :
. parptlon se.cond number to add 358 361 39— 2660 1 500 + 40 + 10 33+ 100 - 10 \ s om J . Bd@ smalier quantity | difference
e decimal pairs of 10 and 1 358 + 73 =358+ 70+ 3 | = 2700 + 300 + 200 + 10 | = 7533 — 10 4444 Tz7 4 Larger quantzty 7523 - 90
e use near doubles to add =361+ 70 - - ® @ ) =7523-100+ 10
3000 + 200 + 10 7523 B DT =7423 + 10
e add near multiples by adjusting both numbers =431 =3210 ® —_— - /
Aullesence = 7433
More than ThHTO + ThHTO including numbers whole port, | part izl‘lé%O:I 12%)7.25
whole ~
to 3 dp 0 +700 /f_% puurt purt part part = 240
, f\m/'\ 1458 2238 2258 13.25 : 124.90
e number bonds of decimals (to 1 d.p.) to 2 5358 2361 7431 4 ) 124.90 Place: holders R whole e +117.25
2 1o vhole Wt ——
. +117.25 prrstuionnsg wlo bR ) G = 242.15
2358 + 773 : 242 15 npheit  + "00.76 J 1
e add multiples of 10s, 100s, 1000s, tenths = 2358+ 700+ 70+ 3 1458 + 780 - 18.14
e fluency of TO + TO including with decimals =2361+ 700 + 70 ~ 1458 + 800 - 20 L1 (1 snaller quantity | difference 2 ;'2' N5
e = 2431 + 700 - Largur cuamttty O 8
e partition second number to add — 3131 = 2258 — 20 o e —— _117.25
¢ use number facts, bridging and place value a =2238 L gty : , —144—‘)0
e adjust numbers to add aneence ——J
For larger numbers, including numbers to 3 dp 35.8+7.3
and with mixed operations i whole P ~36+7~=43
| part purt whes
+03 I’y part part
e number bonds of decimals (to 1 d.p.) to 20 m = 25.536 1 o holders BIDA 35.8+ 7.3
e number bonds of decimals (to 2 d.p.) to 1 'smﬂ 52 659 64 4527899.72 9.0 8 0. wused lo ensure M S o =358+7+0.3
6. 56, : - + 36289 4 4 59.77 O>plnnr value is whole o ‘ : =36.1+7=43.1
e add multiples of 10s, 100s, 1000s, tenths, \j 362 : ’ P Brackets; Indices; Division o) G Kizss lx:.lu
hundredths 35.8+7.3=358+7+ 0.1 4564189.16 +_1.300 and Multiplication (equal); - : 43.1-17.3
e fluency of 2 digit + 2 digit including with 0.3 B ~ R STEITE 93.511 Addition and Subtraction _ =43.1-7-03
decimals = ig% +7 52+ 11.9= ZiJf (1)21— 0.1 11111 212 (equal). S ey =42.8-7=358
e partition second number to add T — g3 ; : q—
e use number facts, bridging and place value ' R ) 43.1 = 43 to the nearest
e adjust numbers to add S I whole number




Subtraction |

— subtract, subtraction, take (away), minus, decrease, left/left over? difference, more than/fewer than/than less is, tens boundary, hundreds boundary, inverse = equals, sign, is the same as

=6

‘ Subtraction facts Take away and count Count on/difference Count on/difference Count back 1 less Solve Solve
Number |
size - g
1 & . -
- < = : 1 3 ol
W 6 { S | o4 —
) Al e i b o
Facts and | e subtraction facts . AR A I f; g ‘
Recall from 5 o The difference between 8 . * % 2 whole
ds5i 1.2.3 Put 51n your { "
and5is... 1,2, e alele art art
5-1=4 2=5-3 head, 4, 3.7 p P
e take away and 6 take away 1 leaves w M” w w w 4+ 5 8 T 8 s B
count remainder, @ 1, 2, 3, 4, 5. M e 3 » K ,/" 3 g THOR . Apurt)
count on and oo Woe 125 4 | 4 o 1.8 R R N )
Mental | count back oo o @OOOO O —OC- |  Yesterday, there were 4 74 | 00000 ] G G e
Strategies | e 1 less 3.0=0 2=3_1 more butterflies than 3 take away 2 is 1 o0 e
° Subtraction facts - - - - 9 take away 2 leaves cee 17 today' 7 D:D:EED Start Wlth 3... 2, 1. ‘.. ."-.;
from 2, 3,4, 5 2. 1,2,3 2
and 10
Subtraction facts Pm:;%“éi%ﬁ%?ﬁgwn) Count on Count back 10 less Writing statements Solve Solve
Number | O-O
size TO (< 20) - = i S
f la(\* (‘l [la ‘] 8 9 a9 ¥ { whole )
8 0 10 11 12 13 14 17| 18719 6 i P
e subtraction facts ——t—lr—Ar——t— . ? i ‘ R W Y
Fa}gts :llil 4 from 5, 6,7, 8,9 WOV N ) I S .Pi”’ ‘}‘-l”f
ec and 10 m 6 7 8 9 10 11 12 18 10=8 :
11-4=7
. 16-9=1[]
o 1 less ~r % et 18 6.9 whole
o 2 less 7-0=7  0=7-7 ‘ 3 4 5 6 ®e : 16 6. =7 part | part
e 10 less 7T-1=6 1=7-6 \/| |o® 133 L5 -
7-2=5 2=7-5 13| 14| 15 16 7=0-9
Mental | ®countback _ _ 3 % )( oo _ _ =
: . 7-3=4 3=7-4 .)\_J,}_/.,M‘ 16-3=13 0-9=7 xpm
Strategies | © difference (count 4‘. 7 8 9 10 11 12 ‘ - - b / \ ® —
16-3=13 16-13=3 7=16-0] (Cwhote. )
on) /‘\V/ / ° 13=16-3 J
e subtract 10 (from 3=16-13 h-v=7 '-._l-"“"._.f‘
numbers up to 7T=0-V T
20)
Partition and subtract Subtract near n.umbers and Count on Subtract multiples of 10 Partitioned Column Column subtraction Solve Commutativity and
adjusting method (no exchange) (no exchange) Inverse
Commutativity
TO-0 25 35 37 + 1 (whole )
Nur.nber TO-T \__ﬁ_/\:g/ +1 +2 2 13* ‘4 it s ‘_J_ - g pt
- To-10 ST 12751102 mm . - 40+t :"’p;m"‘: il.p:nt ) 0 14367890
=25-10 | r +: N~ NS
=28 15 16 35| —o—g0 o | 2| 23524 2 | & % 2042
2| 3 3¢ oo 0% 40 Lﬁri
T Q 42-39=3 ® ' v = 10| :8 X TR I
Facts and | » subtraction facts TE —20 2| 43| 44| 4t Y v i (whote) S R
Recall f] 1 o (1) @ -98806C0030 CO00 00008 - - - Op l‘“ RGrEIm AT
rom 12 to 20 .. 35_19=35-20+ 1 b 43-30=13 : =7
x XXX =15+ 1 7 47-13 =34 45— 10 Inverse
68-13=68-10-3 T ) T o V= _
=65 10 7= = " & — .;. w o 46 VSIS 3+0=7  7=0+4
= | 2 3 . - 4+0=7 7=3+1[
e 10 less 55 T O ma : 0o _ & —-20°] 4 - 22 32-11-V =100 _ _
|| 88| s s7s¢ X)(( e _22 - 4V=T7  T=04V
e partition second m e . . I A S 24 V=46-13-1]
Mental number, count coinl I\IOP\' @ ® L 5 46| 4§ —
. back in 1s then o ol o 1 69 —24 =45 N1 ap m
Strategies 10s oo N % ® || 55 56 B¢ 46 - 22 =24 part part 15 16 17 18 19
e subtract multiples 13- 7: 13 34 i - +|§| 57 -35 =22 whole
of 10 _ 35+ 2+ 20=57 38—-10=28 15+4=1
=104 vart part oriz
Pé pe 19-4=15




Subtraction |

— subtract, subtraction, take (away), minus, decrease, left/left over? difference, more than/fewer than/than less is, tens boundary, hundreds boundary, inverse = equals, sign, is the same as

Partition and subtract L zs;ss?ilzi:bers and Counting up Column subtraction Solve Solve Estimate and Check
HTO - 0O 'R +1 I 300 +2
H T Q ——
HTO-T PP .‘: = :-Q& — m/’_\m (_ whole )
Number E$8 i} 'IF{O :: ] oK i % 259 240 540 o4 158 LA 735 — 189
size - f 200 ~ _
DG —-232 333-52 =300- (] [ part | ( part ) — _
HTO — HT : 735_ 189 542 — 239 s22 e Jpart ) (pact, = 735200 + 11
HTO — HTO =735-200+ 11 239+ 1 =240 226 = =535+ 11
Facts and | e subtraction facts to 20 fluently 3467 4; 2}; 00—10-9 =535+ 11 éig I ;O:O 5: 4340 SV’S 571237 Vgg 250 Sarpek guantily — smaller = 046
Recall e subtraction facts of multiples of 10 to 200 =638 200 - 10 =546 l‘.h‘g. . Q - —80 -1 luanhh' difference 546
¥4 L F — L b ]
=628 - 200 - | 542-239=1+300+2 T e 5 ST
e subtract multiples of 10 and 100 =428 .-. I I" =303 :: SO S~ - e _sot sy +189
e subtract single digits bridging through n e & & ®® o6 " 4 P o 735
o boundaries 679 709 729 : ® ®® 1 whole part
Simmiees [ partition second number — 50 —20 O @ =] 229 sart sart 11 /
e difference by counting on 729 — 50 678 — 90 @ 168 P P whole part
e subtract near multiples of 10 and 100 by =729 -20-30 =678 100+ 10 @
rounding and adjusting =709 - 30 =578 + 10 > 061 part
=679 =588 1)
53&1;;? (place value) and | Subtract Zg;ssrtlil;llrgnbers i Counting up Column subtraction Column subtraction Solve Estimate and Check
o 3345 — 750 | p )
: Up to ThHTO — ThHTO including numbers to 2 5112 5812 3862 | = 3345 — 1000 + 250 v 4 S Tae ”"-;....A e ESé;OZOO 7510000
size | dp =m0 AR89 = 2345 + 250 e
~ ya9n 6003 — 5998 = 5 1532 ~ 5000
5862 — 750 - 2 I3 — larger quantity — smaller
. . = 5862 — 700 - 50 _ , /_\/'\ 1222 v = diference
Fa}gts :‘Ilil d * subtraction facts of multiples of 100 from 2000 | _ 544 2700 [ mn | ©@® @ ®| -
cc 5112 % ® ® | | 5998 G000 6003
= ) ®® 6
aw
e subtract multiples of 10, 100 and 1000 35.73 2.3 ' | ® |s @ | |41-19=41-2+0.1 2Y%'54
Mental | © fluency of to —to 24578 -2 0.3 36.78 — 19.8 fé-é“ﬂ ~1562
Strategies | ® partition second number to subtract =33.73_0.3 =36.78-20+0.2 T 119 Z
e subtract near multiples by rounding and =33.43 =16.783 + 0.2 Eaca e =
adjusting =16.98
Partition and subtract DL near aHnbersiand Counting up Column subtraction Column subtraction Solve Estimate and Check
More than ThHTO -ThHTO including numbers ,,';"I T3 e 2754 — 1562
size | to 3 dp 10162 10462 1244 47 45000 46 Place =t et | par ~ 3000 — 2000
SN \ holders ~
F d W 29;3 ;((,0 \:01/0/0—84:)6 ilqlo ;16 5 12 used to larger quantity — smaller - 1020
-, S o = A
a;;z:ﬁl e subtraction facts of decimals (to 1 d.p.) from 2 -300 -2000 2 G S -]O e:;:e llb = difference 25154
12462 2300 1 8006 — 2993 = 5013 — 2128 26.5 T 1862 {3
_ S ——— — - upheld " e sizns = 7
e subtract multiples of 10s, 100s and 1000s = 12462 - 2000 ~ 300 89728 ——— e 1192 11562
Mental | e fluency of TO -TO incluyding with decimals = 12162 - 2000 4289 ~ 3500 u 236.5 o 2754
. . = 10162 = 4289 —4000 +500 8.006 - 2.993 = 5.013 = whole 3=
Strategies | e partition second number to subtract - — 289 + 500 s whole -~ part 1
e adjust number to subtract =789 pave) (it part
Partition and subtract S niaarj:l;l:mber Haz Column subtraction Column subtraction BIDMAS Solve Estimate and Check
part | parf 52-11.9
For larger numbers, including numbers to 3 dp +01 A whele ~ 50 10 ~ 40
size and with mixed operations m part | part
37 57 61 1 52-11.9
40 401 2238 52 6 4 0.9 3 B 1D A larger quantity — smaller )
. . A% : = -12+0.1
Factsand | ° sz%btractlon facts of decimals (to 1 d.p.) from uU v YR 14 11Q15 ) 411 kg M S aantily = difhsancs = i?) N O21 940 :
Recall — — . L = 1 = 40.
e subtraction facts of decimals (to 2 d.p.) from 2 Z 04 — 12 —-286 — 36.080kg Brackets; Indices; Division
B _— and Multiplication (equal); v o 40.1+11.9
e subtract multiples of 10s, 100s, 1000s, tenths | 6-1-2.4=6.1-2-0.4 468 69.339ks Addition and Subtraction e =40.1+11+0.9
— and hundredths =57-2 52-11.9 — (equal). =41+ 11=52
o airelt s | * fluency of TO — TO including with decimals =3.7 =52-12+0.1 AT part
S e partition second number to subtract =40 +0.1 whole - part 40.1= 40 to the nearest
e use number facts, bridging and place value =40.1 ) part whole number




Multlphc ation x lots/groups of, times, multiply, multiplication, multiplied by, multiple of, product, once, twice, ... times as (big, long, wide...), repeated addition, array, row, column, double, inverse = equals, sign, is the same as

Count in Ts Count in 2s Count in 2s Doubles Doubles Doubles Solve Solve
Number | 5 i | ) - ﬁ"ff %‘3 -&'ﬁ' ﬁ"ﬂ’?
e —' . -| . 3 " . | l' /.. < ‘ \ J ) ‘____.1_.__.{\.%./: '.'{TT:_IYT Y = ﬁ'lir'.?:
2 and 2 is 4 [ . N L2 whole
is 10 equal part +|:'-:[ual part
F
a}z{:ﬁt}z :11; e e doubles up to 5 /.,; o\ %—‘
o ¢ mEE mln
° O 3
b O = | o B | 7 | 2 |
s ‘ Double 4 is 8. - : -5 -
- | et J— 2]z 2
Mental | e countin Is 1.2.3.4.5 ,"", ,‘fﬁ", Y- o wrbiole )
: ) . % - ‘ 8 & {_whole )
Strategies | e count in 2s U '|@1|'|E]||;§j‘ { Im.l 9000 8C-CC-CC- ML\ s L\_ ¥ u —~ 8 @ —
YTV TV IO |3 I 4 ((caualy_Fqual
N N B 2, 4, 6, 8. a4 Be T 8 3and 3 is 6 \part / \ part /
Count in 5s Count in 10s Count in 10s Doubles Writing Statements Solve Solve
Number
Size O X O ' ' ' ' PUOODCCLED - GODDLIOID) GOSN \ ’ -
m o and 14 p
5, 10, 15, 20, 25, 30. 10, 20, 30. Y 2o S PR 1010 10
doubles up to 10 N Y e Y e 3 groups of 2
Factsand | ° -20008—C0OCO0—90088— 0000 { “ : ¥ o
Recall e double multiples &) ;&o Za ;0 :0 ::('J a a . ) W i 2 multiplied by 3 +0+0 =6
of 10 up to 100 - + 2x3 5+5=10
| S5y 4 5.9 7 & #19 ay W W W A double 5 is 10 5x5=V
L. CELTEN A £X £ &¥ 2 lots of 5is 10
21 20 23 24 25 26 27 28 29 30
P P P P P P P PR 3 doubled is [
N T T 31 321°33 34 35 34 37) 38 39 4Q| “‘ A
S . 3:, .}-, 1] 420 48 44 45 46 47 48 49 50 . ! . ": ’ V doubled is 12 4 wlmle(_fi'
e count in 2s 51 52{ 58 5 57 58 54 60 oubled 18 D Mgt 12
SMenta}I e count in 5s e @06 ® @ 6 1: ‘;.-E bi el { a8 1d . .. 3+3 5+5+5+5=20 B :/'cq1131\.|=|./:quai\|
frategies | | ount i @ O @O | cop cow don dou 0w | |77 18 17 s 1o ad 2 groups of 3 5x4 =20 \par "\ part/
count in 10s o 0 06 00 BDBBLBE&ZDEY = o . e B )
< -~ 4 "~ zu;,“ w;." "‘."' mp’“‘ 81| 52 88 84/ 55 86 87 S8 89 99 3 multiplied by 2 5 multiplied by 4 is 20 N
L5+1,10+1, 15+1 - N e N o1] 92/ 8% 24| o8 56 97] o8| o109 3x2 4 lots of 5 is 20 | R whole
L 6 I, 16 10(;020730306504050507 3,13,33,43,53,63 ... + SIS B, ) equal part +n:'-:[ual prart
’ ’ ’ . S
Count in 3s Count in 4s ‘.zx 5x_ 19 X (1ncll_1dmg Doubles Writing Statements Writing Statements Solve ol (i
identifying multiples) Inverse

Commutativity

Number | o x10 (<12)
A A A | g REPEE || s o
e 2x, Bx and 10x AT AN : LS X Zrztz4z42=10 SLSE = - ! | 5x3=15
i v : - - E ; e I\ A_." .\-7.", J — .

Fa}g;z:ilild table facts 2x5=10 > . equal - equal - _ 7 equal
e doubles to 20 ‘ ®0C (€Ye) = = = =
A 3x4=12 i & ®
7 “3 times 4 equals 12”7 ....‘ 3x5=15=5x3
5+5+5=15
R g 5x3=15 “4 lots of 3 127
o identify multiples | % W g‘g % % x % - R 00000 TR 15 sxset1s
) ! 6\ o N .
of 2, 5.and IQ = w " X/ " A “3 multiplied by 4 equals 00000 3+3+3+3+3=15
Mental | e count in multiples ‘12 127 O0000 3x5=5xV 5+5+5=15
Strategies of 3s 3 6 9 4, 8, 12, e, 20. g 00000
. . ’ ’ . S = D :
. C?ljlnt in multiples . FY_Y_-V 104104104104 104104+ L 32 “The product of 3 and 4 is 3+3+3+3+3=15 | \]-m.. | | 00000
of 4s T A 2 cqual _ equal | equal _ equa
/—‘ w/ Y’_V V Qza d var B sun |Buuvlfl? 10+10+10+10 = 100 12 _ part part part part O OO Q(\
O 1213 43679 9 wni2 _ 3x5=15 -
10x 10 =100 15+3=5 15+5=3

15-3-3-3-3=3
15-5-5=5




Multiplicaﬁon x lots/groups of, times, multiply, multiplication, multiplied by, multiple of, product, once, twice, ... times as (big, long, wide...), repeated addition, array, row, column, double, inverse = equals, sign, is the same as

.. . . Commutativity and
Partition and Multiply Doubles Arrays Grid method Solve Distributive Law Check
b Commutativity < 3
Numer @ ] X 4X12X5=4xXx5x%x12
size X - whole — 20 %12 z
' Unm - -
) a‘ Zl = 1 & wopual Xk equal - equal = 240
Facts and (15 )x (3 ﬁ ﬂ' -& part part part 10 30|+
Recall e 3x, 4x, 6x 8x table facts ) O - o A A A whale Distributive Law 26
. . == ‘ 0 5 a 10 30 4 an..:l = equal - equal & equal .i. eee l
R S = 3 i part part part ! B . ' -
T » 5 ﬂ' smaldler quanbity x multiple !_E._Q ,__!_ A b b S OO
. . ." L QA ) S0 i ' 15 5x6 =30 lxu}.;vrqumﬁi)' . " .'E!,’ ,. [ I 71
& @ PO Yazy TV 36 I | eeeee i
snsalze |
24x3=60+12 1 =1 + Qs oo e
Mental e identify multiples of 3,4, 6 and 8 =60+ 10+ 2 SXS:(SOO_I):% Gx3) AAAAAA X 3 7x2=0] 4=0xV eeoee =1
Strategies e count in multiples of 8s =72 =45 AAAAAA ? 6 7xO=14 u=0x7 | @eeeel] [5]
e double two digit numbers AAAAA B ] .
AAAAAA 10 30|+ 2x6=3x U i seflosflsclesfosios
8Xx7 =(5x7)+(3x7)
6x5=230 36 10x Ox =60 =35+ 2] 12x3=6x6=
12=2x01x2 =56 36 /
Partition and Multiply Multlpliroagi ?ggl bz iy Related Factls O()m ulfiplesiof Grid method Short Multiplication Solve Estimate and Check
. T O 3x5=15 231x7=200x10
Number H | r [ o HITO|lt] A 1a T = 2000
size HTO x O ® o ' 2|7 -
-.lh 2 /_/ T | : X i equal _Cequal 7 equal
:: :_: 2|1 | 0 | Q0000 1 7 452 part  part . part X 7
"1 : - OO OO smaldler quanbity x multiple 1 7
Facts and o all tables to 12 x 44 -4+ 13 VI OO0 X 3 Larger quantity 30| 210|+
Recall ® 0 - L Lo 00000 30| 210+ S sty A
113x8 198 e 2001 1200 1356 4 (S R (R N 200} 1400
Sl Wl S| —_— : 1617
= (100x8)+(10x8)+(3x8) I 50 x 3 = 150 - 1 e d
Mental | ® 2 number x 10 =800 + 80 + 24 a6 | 150 = 5 x 30 1617 R o
Strategies * any number x 100 =800 + 104 600 50x3=30x5 equal _ equal _ equal _ equal o ! /
e double all numbers including decimals =904 = =1 30 x 50 = 1500 part | part | part  part 7T 161 7
i . Multiply any number by .. Short and Long .
Partition and Multiply 10, 100 and 1000 Factors and Commutativity | Square and Cube Numbers Multiplication Solve Estimate and Check
Number | ThHTO x O 131% a a { 2 4 3 1234 x 16 = 1000 x 20
size | ThHTO x TO 1 10 3 = - e e e i . whole ~ 20000
| ‘ \VH|T|OJi t |h|th _ X .
50‘; BOO 200 10/ I [ [ 4x35=4 x5x7 6o 4 4 eqqual equal 7 equal 1 2 3 4
Facts and | e all tables to 12 x ZOOE 2000 800+ \ K / ; ?Z(;( ! P part .~ part . part x 16
Recall | o up to 12 x multiples of 10 to 120 1000| 10000[ 4000 3104 ) Z"u'-“""" 4‘.‘“2:""‘3 x multiple 740 A
‘ 12500 5000 12 & 4 B 1 2 34 4 O +
e any number x 10 ,x 100 and x 1000 1250 x 14 - * " 16 9 7 4 4
Mental | ° double all numbers including decimals = (1250x10) + (1250x4) 5 ?;'i X 11%02_320371 3x270=3x3x9x 10 7oL
Strategies e partition to multiply = 12500 + 5000 ; I.S Xl 000 - 2130 —92x 10 [ 23 404 whale 01234
e identify multiples = 17500 o X - =81x10 1 r_r ¢ 7 o 7 4 4 xlx:”ul it ‘ul:l I nl::’ i nI:::I L e 197 3 V
e use square numbers (*) and cube (%) = 8100 v | & | 2 | e [us E— ' ' AT AR A (12
i . Multiply any number by . Short and Long .
Partition and Multiply 10, 100 and 1000 Related Facts (decimals) Multiplication BIDMAS Solve Estimate and Check
Number :
size ThHTO x TO = . | 3x5=15 whole 3.19x8=~3x8
DO on PEORERE - o 5x3=15 ~ 24
— 3 - h H|T O ¢ h | th woqual equal coqual
11 tables to 12 x of | ‘ ' A g et
Facts and *a R |/’ OO\O OO - BIDA part part part .
Recall e up to 12 x multiples of 10 to 120 and decimals . A / "_«\’ Ev) g /J k\) o 1 9 M S smuller quantity x multiple °© 19
to 1 and 2 d.p. (e.g. 3 x 0.8) 3100/ 4 ) Q0000 < 8 Larger quantity X 8
g 00000 Brackets; Indices; Division b= = (= > 5 ”
- 2 5 5 2 and Multiplication (equal); b = 5 2
e any number x 10, x 100 and x 1000 47x6 4.53x 10 = 45.3 03x5=15 1 = Addition and Subtraction Qs 1 7
Mental | e double all numbers including decimals =(4x6)+(0.7x6) 71.23 x 100 = 7123 15=05x3 (equal). whole '
Strategies | e partition to multiply =(24) +(4.2) 12.452 x 1000 = 12452 0.3%5=05x3 rargt Beaed deomg toaiy S8, L
e identify, common multiples = 28.2 03x0.5=0.15 ‘ ' 8/12°%5 .5 "2 /




_ array, row, column, halve, share, share equally, each... group in pairs, equal groups of, divide, division, divided by, divided into, remainder, factor, quotient, divisible by, inverse, = equals, sign, is the same as

whele
equal part +n:'c[ual prart

985980 BB

PO How many groups of 4 are '
there in 12 buttons? ( [

One for you. One for me ...

Is it fair? How many do
E % we each have? A s s 50

i
8@-80-8C-00-CO \ N
.@ ¥ ,m : ' 8 10 socks grouped into 2s

T 1Z3 15 ¢7 8910 0 gives 5 groups.

10. 8. 6. 4. 2. 12 shared between 3 is 4. slele

. Illglve evens up to I......
ap () 9 @) () p)

e count back in 1s 6,5,4,3.2. 1
e count back in 2s .

/i cqua]\ /cqu.u
\part./ \pan )

20, 15, 10, . e e P
AT AT A G D A S0 —
(10 ) 10p )| 10p [ 10p | 10p | (10w || 20p | %
TN SO S Lo ‘ ‘ ‘ . ' Mmk‘/‘
-l f -__f

.-"T" e L i
TR i35 | Sharet i b et » }; }} A 40+4=10 (e, Eauai
£19 £ -~ } 40 shared into 4 is 10 in \ Jart/ \parl )
e halve evens up to 5 . K| \\_,./\‘__/’\%__/*\____./ cach erou <0 =2
20 k H s .  Sacl SrOUD.
g 47 40 divided by 4 equals 10.

e halve multiples of N7 o & EEERERLEED: »..! "’
20 up to 200 X vt 14 18 14 18 1 19 19 20 ”"“l
60, 55, 50, 45, 40 ... PR ERES PR RS . RPET

27 28 29 39 How many pairs?

Shared into 3 equal groups whele

w10 e B 20 i ;_'

5]
1 10 halved is [
U8 ; 3 od 4 4l
% X R X PP [ ) 81 54 59 ea st;\] i/kp 5% / V halved is 6 equal part Fequal part
25, 20, 15, 10, 5. TP oD - \&
e count back in 2s T T T : 1— T —— . b . T
e count back in 5s o ; Teams of 6. How many 6= 2=5 R {:\._
e count back in 10s Foil 52 o8] ad ot ol sd s8h0d teams? 6 halved is 3. G ogel ¥ T ‘
sl - 6 grouped into 3s makes 2 X ST :
97,87, 77,67, 57, 47... et )

roups. &
20+1. 15+1, 10+1,5+1, 1 Shared into 4 equal groups o
21, 16, 11, 6, 1

Commutativity
ooo ooo How many groups of 3 in \ 8o ’ LEE ij —l. .|_|_|
x.:r},‘? \4:3‘;' v'£‘§' T 157 - : e |
o A Shrpirerin I
e 2x, 5x and 10x U g _1}11a§ lieen Sharedl 15-5=3but 5 N 15 #3
table division cquaty o — equa whole
facts J ~DOBROCCCN0—OBSRR000CI— groups. equal part +|:'-:[u al part Inverse
» LYY 3x5=15 5x3=15
. Eaive evefll’to1 40 ) — — I have ___ in each group L — 34+3+3+3+3=15
) lg\lzli)rt%uzt(l)%eso 20, 16, 12, 8, 4 @G - g | co  mme 500 0¢
’ ’ ’ ’ . . @ lé_y.v 4\ ‘\ K "» /' O O O OO
= “12 divided by 4 equals 3”7 12 — T
9, 6, 3. . | 00000
e count back in YR WY AT TP « ‘o e o0 oo TR Q0000
multiples of 3s 0. 3. 6 9 v 12 m 12 shared by 4 is 3 e °% ee ! \_'\'hOle/ 15-3=5 15+=5=3
e count back in L R oK 7 TrEsg e T ERTE 12+3=4 e 15-3-3-3-3=3
_ - — « : : ” . - e NS AR —O0—0—0~0=
multiples of 4s 10x 10 = 100 12+2=6 12 grouped into 4s is 3 /equal \f cqu.n\ 15-5-5=5

S0 100 = 10 = 10 \part/ \ part /




_ array, row, column, halve, share, share equally, each... group in pairs, equal groups of, divide, division, divided by, divided into, remainder, factor, quotient, divisible by, inverse, = equals, sign, is the same as

® 3%, 4%, 6x 8x table division facts

e count in multiples of 8s
e halve two digit numbers
o find factors of numbers to 100

e all division facts of tables to 12 x

e any number =10

e any number =10 and +100

e halve all numbers including decimals
e recognise factor pairs

ThHTO + O

e all division facts of tables to 12 x

o division facts of up to 12 x multiples of 10 to
120

e prime numbers to 19

e any number =10, +100 and 1000
¢ halve all numbers including decimals
e partition to divide

ThHTO + TO

o cstablish whether a number up to 100 is prime

e all division facts of tables to 12 x

o division facts of up to 12 x multiples of 10 to
120 and decimals to 1 and 2 d.p. (e.g. 3 x 0.8)

e any number =10, 100 and 1000
e halve all numbers including decimals
e partition to divide

e identify common factors

e identify prime numbers

50 (50=-5=10)

10+4+1=15

H T o

0. eaeee .

T essee

LA LE L

o (o |0 [0 Jo
e 0v @ uen @
e (& o (o @
155 +5=

(100+5)+(50+5)+5=+5)
=20+ 10+1
=31

5
0 (20=3= 4)
5 ( 3553= 1)

oGalen

7.2+3
=6+3)+(1.2+3)
=2+04

=24

4275+ 12

3600 + 12 = 300

600 + 12 =50
60+12=5
15+12=1r3

4275+ 12 =356 Y%

=©E0+-2)+(@8+2)
=30+4
=34

/T ol[t

LH80 [
1|3

1l

oo

3
5
00000

00000
00000

150 = 3 =50
150 +-30=5
1500 + 30 = 50

5

37+ 10=23.7
3800 + 100 = 38
7564 + 1000 = 756.4

'mu'uo.thth

&wfgf
\qo \[| _boo

- =

S

6453 + 10 = 645.3
712.3 + 100 = 7.123
1245.2 + 1000 = 1.2452

3 2

39 6

\_l_/' \l_):l
\ r’;'\: g
\=A,
Py
\l/‘
(1)
N
&)

12+-6=8~+[J
10-5=+ (=1
3=12+-0=+2

whole

equal _Cequal 7 equal
part part part

lurger quantity - smaller
quantify = factor

-
Guantity

whole
cqual _ equal _ equal _ equal
part part part part

IO N T TE,

winal

-

]

-
s

oo
i DL
-

—
Q1 Q1 U1

WO W
I
ol o

76
Sb

15+-3=5
15+-5=23

00000
00000
00000

[ON )|

01 2345687891011 12

12 people. 5 in a taxi.
How many taxis? 3
P ]

RPN

12 buttons. 5 in a bag.

How many full bags? 2

SHIGNE

98  24.5
4 498 %
2 4r2

095.25
8|7?64z oo

0484

1 3|62 %2

13,26, 39, 52, 65, 75, 91, 104, 117, 130

114.253

414 57 0%

D
M

>

Brackets; Indices; Division
and Multiplication (equal);
Addition and Subtraction
(equal).

whole

equal _Cequal 7 equal
part part part

larger quantity - smaller
quantify = factor

i
Goantity

cqual _ equal _ equal _ equal
part part part part

whole

whole

equal . equal 7 equal
part part part

lurger quanhty - smaller
quantify = factor

i
cvantity

cqual _ equal _ equal _ equal

whole

part part part part
whole
equal - “equal 7 equal
part part part
lurger quantty - smaller
quantify = factor

i
Gty

cqual _ equal | equal _ equal
part part part part

whole

Z 4
496
X 4
4 16
20 30|+

98,

185+-5=20+5
=4

03.7
5/1 8.°5

3.7x5
(3x5)+ (0.7x5)

15+ 3.5
18.5 V/

7256 = 7 lies between
7210 -7 =1030
and 7280 + 7 = 1040

1036 4
= r
717 2%5%

1036
X 7
2252+4=225f/

24

762 +8=800+8
~ 100
095.25
87762 0%
95.25x 8 =

(90x8)+(5x8)+(0.25x8)
=720+40+ 2

=762 /




